Write the equation of this lipe in Point-Slope Form
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\ y-5=-4(x-1)

using (3, -1) the equation is:
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y+1=-4(x-3)
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Use this equation: y+11 =-(x - 6)
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What is the slope of this line? _ }

What point was used to write this equation? Z <<) -1 )
|

Use this equation: y-9=4(x +11)

What is the slope of this line? L\

What point was used to write this equation? (—l | qﬁ

y-y1=mx-xy)
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y-9=4(x+11)

How can you graph this line? y+5 =3(x +2) /
Y
What is the slope of this line? i
\ T/
What point was used to write this equation? +

éﬂ —%) Crore .

Plot the point (-2, -5) then use the slope to find other points.




You can now finish Hwk #20 Due

Pages 307-308 iharsday

Problems 11-14, 21, 22, 37, 38, 40

For #'s 21, 22, 40 write the equation in Point-Slope Form only

Sec 6-2: Slope-Intercept Form for the equation of a line.

y=mx+b

slope Y-intercept

y+5 =3(x +2) v /

What is another way to graph the line? %
Change this equation into /
Slope-Intercept Form * %
. /
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g — Zx \ plot the y-intercept of 1 then use the slope to find other points.

FINnu e siope anu uie y-inercept o1 edcri equduorl.

1. y=-5+2x

2. y=-Ix
Slppe: L Slope: -1
y-int: =5 y-int: d
Change to slope-intercept_form:
3. y=8 4. 3x+6y=24- Dx NG
I
Slope: 0 Sl?ée- - Liﬂ =24 ;33( b _— }/ZX
y-int. B y-int: Y 2

5' y -_|—-6L: -3()( & 1): ’3\‘ ——J-\pr Change to slope-intercept form:
Slope: -3 -

e distribute the slope
y-int: + 3

3__ = i _% e add 6 to both sides



|Writing the equation of a line in Slope-Intercept Form:

Write the equation of the line that passes through these

two points in Slope=Intercept Form
and (-3, 21) -1 _ =z,
-1 =5 =

First: Find the slope.
Second: Write the equation in Point-Slope Form g,“\ = L\ (X "/_—)

Third: Change Point-Slope into Slope-Intercept




